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Jor the questions.

Part I (3 -9i2%))

Q. No. 1 (a-f) carries 1 mark each 1x6= 6
| Q. No. 2-7 carries 2 marks each 2x6 =12
Q. No. 8-12 carries 4 marks each 4%x5 =20
Q. No. 13 & 14 carries 6 marks each 6x2 =12

Total = 50

Part II (¥ -9ie«))

Q. No. 15 (a—-f) carries 1 mark each 1B 6

Q. No. 16—-21 carries 2 marks each 265 =H2
Q. No. 22-26 carries 4 marks each 4x5 =20
Q. No. 27 & 28 carries 6 marks each 6x2 =12

Total =50

Total (Part I & II): 50 + 50 = 100
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PART A — F 99

Define service 4 . ; | 1
CTaIS ke o |

Fill in the blank:

The allocation of ___ resources and distribution of the

final goods and services are the central problems of any
economy. ' 1

L i RO SR DO O S GRS ek 2o Rl

SieqIfeq FHE T | : :

What is a demand function ? 1

sifznl Toe 6 2 :

What happens to total product when marginal product is zero ?
: il

2Afs TAT ¥ 2 9 LA = 2

What does a vertical supply curve imply ? il

TerH Q@IIE (IR 6 AR 2

Why is average total cost (ATC) greater than average variable

cost (AVC)? ‘ 1

5 2G5 ST afe Yo T [ ofes

2. State the meaning of microeconomics and macroeconomics.

2
i s i S wemifea =l fF
3. Wh}lr does a budget line slope downward ? 2

TIF ANCEH (@R SIS a2

4. If the total utilities of 4 and 5 units of a commaodity for a consumer
are 56 and 60 respectively, calculate the marginal utility of 4 units
of it for him. 2
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Toreiel UEeE AlE 98 ARkiET 4 O 5 cﬂﬁa@%@?ﬁw%w@m
TE (999 @ TWREE 4 (159 2Aifes el Fef =1

State any two exceptions of the law of demand. 2

sifat RIRGH e 757 i fral

Define the term “long-run” as used in production. 2

TeAme FHf© GEe “TEDE’S e |

State any two assumptions of the law of variable proportions. A

2
“NfREiTe Sreires RIEGR R 7o sifeaisel &=
Disfinguish between supply and stock. L 4
ol BN STgres 2N e |
: OR / 24l

Explain briefly any four factors affecting supply of a commodity.

GOl ANTE @isiiae 2eiie iz IS0 S [REc o3jes 1=y =5 |

Explain the law of supply with the help of a supply schedule.

QN SRpIb R ARSIl &G @i <5 |

State the relationship between average cost (AC) and marginal cost
(MC) using diagram. 4
fo@ <z f 5% T (AC) W @ifeR T (MC) T FTE il |

State the distinction between explicit cost and implicit cost. Give
one example of each of them. 2+2=4

Y SN SRS TN Sy 7| HCORE GBIz Srigael |

Write down three characteristics of monopolistic. competition. State |
whether the output produced by a firm under such a market is
higher/lower than or equal to that of a firm under perfect
competition. - ‘ 3+1=4
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<[4 /e G A (o720 |

OR / @241
“Monopoly firm is a price maker” — Explain.

@Al R 2Pl @ T REReRS)” — Fef <=1

13. BExplain the fwo basic conditions of consumer’s equilibrium assuming

that the -consumer consumes only two goods. 6
qE (SIGIE (= YR AN Colsl <Fe e 4N C“%’WE“Q‘?W b€ 75
<R <<l |
OR /G441

Explain the concepts of change in quantity demanded and change
in demand using suitable diagrams.

oy fba e FiE bifRrE v@mmﬁmms@ﬁﬂﬁmqﬁ%m
<7yl <=l |

14. The demand and supply functions of a firm under perfectly
competitive market are given below :

@A =12 008D P g
(O], = = [HO10) = 5P
Find (i) The equilibrium price and output.
(ii)) If due to increased cost, the supply function becomeg
Q. =-200 + 3P, what will be the changes in equilibrium

Price and Output ? 3+3=p
oiof AfSRIfoRER qeied R SV G4 Biftwl oiE: (@I FEE 5O Tragy

F9 49609 ;

Q, = 200 - 2P 9%

Q. =-100 + 3P

(i) SFERE vE SR 2ifEe efa |

fi) A JEa @ @i T 1m Q, =—200 + 3P &, (SERE SRRy vy
% AR & ciftaen 29 ¢
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The total cost (TC) and prices (P) at different units of output of a
monopolist are given below :

(i) Find out the total revenue (TR), marginal revenue (MR) and
marginal cost (MC) schedules.

(i) Find out the equilibrium quantity of output (6) (1+2+2)+1=6
SR G B AR Sewivas [ifew (oil6= 91 9 I3 (TC) TI<e W (P) woTo
il tzem| '

(i) 5 =R (TR), &ifes @ (MR) o< @ifes I8 (MC) Spibt et =541 |
(i) AT SRE AAfREE (@) Fefa i

Q TC P
1 20 S
2 S5H 14
3 45 13
4 Sl 12
5 58 11
6 66 10
7 TS 9
8 88 8

PART B — ¥ 9i%¥

15. (@) What is the alternative name of macroeconomics ? 1

e SdReTT e @ & 2

(b) What is the significance of the 45° line in Keynesian income

determination model ? .
@b O Fwle) wiifge 45° @RIEER SieoR < 2

(c) What is the value of MPC when MPS is zero ? 1
MPS & I *[) 2'cs1, MPC § W 5 2

Qe [ g5 & o
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(e) What is meant by appreciation of the currehCy of a country ?
' 1
- Q2 (E Y8R CameeniEe S 5 gEiE 2

(f/ What is invisible trade? : 1
[y e & 2
Give any two examples of macroeconomic variable. 2

TRRIR SieTios vess R 75 Swisel |

State the concept of depreciation in the context of national income

accounting. 2 -

NGRS SR PR SRR ARele] Fi |

If the marginal propensity to save (s)of an economy is 03, find out
the value of the income multiplier. 2

Bl e 4 2l SeE el (s) 03 2, (SEE e O \S“W*W%ﬁ@ﬂl

State any two measures of fiscal policy to correct the problem of
excess demand in an economy. 2

b T SfoRe GifZnm Al 78 S0 AGcrE TIed [T 1o s
|

Give the concept of full employment equilibrium. 2
o el SRR G=EIE SisREE |

What is deficit financing ? 2
9 e & ¢

What are the four factors of production ? Write down the name of
the remuneration to each of them. 2+2=4

TeAveR TolmiE 5150 [ 2 Pises Are@ AAlRefeg a5 Bl

Explain any four causes of disequilibrium in BORG 4
(ST-(719 FTIO SISPRGRITOR Ripicl SIS0 kel iyt < |
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26.
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28.

OR/@'J'W

Distinguish between factor income and transfer income. 4

TAMINS S Sl TEITT SR e 2N (el |

It is planned to increase national income by 21,000 crore in an

economy. How much increase in investment is required to achieve
this goal if MPC = 0:6? 4

@t SLRE® SIS =T 1,000 @i 561 fa SN “1FTs=1 1 tarml MPC
= 0:6 T¢I TF TS Boe g4te1 RN A sif{siee 9% =5 s

What is the meaning of government budget ? Distinguish between
revenue receipts and capital receipts. e

SRSl AIEns oI {2 e i s 3w iR Srew sy o

Point out two merits and two demerits of indirect tax. D4D—4.

A S 75 @ SR 75 (i SIgETER |

Explain the income method of calculating GDP. 6
3o 91 SRAM SIS e simfoc! IR < |
OR / ©=41

Explain the relationship between investment multiplier and MPC.
RifFcel oo =% 2ifes ceje 2ol SIS F=AE i 54 |

Briefly explain any four functions of a commercial bank.
FifAfTe @ R BifE5r S0 b0 IR 5 |

OR / 1<
Describe the speculative demand for money.

VWWJTWETEW@%WH@ &4 |
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